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QUESTION 1

Where can a Synergy integrator find consolidated information describing environmental requirements, configuration
scenarios, and installation preparation needs for the HPE Synergy solution? 

A. HPE QuickSpecs 

B. HPE Synergy Site Planning Guide 

C. HPE SalesBuilder for Windows 

D. HPE Synergy Planning Tool 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

Based on the Synergy configuration shown, what will be the outcome in the event of an end-of-row (EoR) switch
failure? 

A. Smartlink will be triggered 

B. There will be no NIC failover. 

C. Uplink bandwidth will decrease. 

D. Server and downlinks will fail. 

Correct Answer: B 

 

QUESTION 3
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Which element of the HPE Synergy 12000 Frame protects against loops on the MGMT ports that are connected to the
external management network? 

A. Image Streamer 

B. Frame Link Modules 

C. Interconnect Modules 

D. Composer 

Correct Answer: A 

 

QUESTION 4

A Synergy integrator is working with a customer to perform a first-time setup of a 3-frame Synergy environment. The
following fabric modules are installed: Frame 1 

Bay 1

Correct Answer: A 

 

 

QUESTION 5

A customer has a single frame with seven compute modules in bays 1-7. The customer also has an HPE Synergy 12Gb
SAS Connection Module in slot 1. The customer recently made a change to require high availability for its storage. What
should the Synergy integrator do to meet the customer\\'s requirement for high availability? 

A. Install an additional HPE D3940 storage module to support bays 7-12. 

B. Move the compute module from bay 7 to bay 12. 

C. Add another HPE Synergy 12Gb SAS Connection Module to bay 4. 

D. Move the mezzanine Card to slot 2 on each compute module. 

Correct Answer: C 
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